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MFZOb=7|L| | IFZOFS7|L|(TH) 86 63 0 0 14 19 26 4 73.26
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SEERZ) 813 410 92 51 55 75 71 66 5043
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W B[ X|(Z) 78 55 0 0 14 11 14 16 70.51
SF2LEE) 181 9 0 0 29 18 10 39 53.04
HiUl=dat U= A 2kCH) 31 22 0 0 16 3 0 3 70.97
Za|d|of 2 2|H|OK(CH) 56 51 0 0 17 17 10 7 91.07
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mLtof IFLFOR(CH) 116 92 0 17 23 8 17 27 7931
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i =] | 2(CH) 358 216 46 29 18 33 54 36 60.34
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EN[E] I Op3 () 105 85 0 0 29 25 13 18 80.95
=Ql(ry) 967 465 9% 54 71 50 70 124 48.09
o ZAJIZZE(E) 1,028 572 75 54 60 120 116 147 55.64
o EEEETES) 196 161 30 17 36 27 13 38 82.14
2(8) 449 303 44 55 45 45 53 61 67.48
2{ A| OF(CH) 830 381 74 31 44 73 101 58 45.90
ZECRAE(E) 155 93 17 15 23 14 18 6 60.00
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EEEETES 42 37 0 0 11 5 14 7 88.10
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O|E2|ot
UL () 204 118 17 13 5 23 29 31 57.84
M= H Z(CH) 201 117 24 10 13 24 33 13 58.21
F}RtS A EHCH) 132 72 18 22 14 9 3 6 54.55
FIRFS AEL
oropE| (5 383 219 38 21 35 66 25 34 57.18
AZO}E|O} = A ZOFE|OKCH) 24 28 0 0 13 9 2 4 116.67
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z2EZ ZEEZHTY) 50 30 0 0 14 3 3 10 60.00
=Zaic Zate (o)) 327 114 30 15 5 29 21 14 34.86
oA makA(LY) 1,699 876 109 94 129 159 182 203 51.56
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o|FE o| R E(TH) 357 204 37 37 38 31 37 24 57.14
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I FILECH) 240 129 24 16 18 17 26 28 53.75
FEC|E0lE AEC|HOLE(T)) 102 58 0 0 12 23 18 5 56.86
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